Math 11 At Work Chapter 7 Review
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Which of the following cannot form a right-angle triangle? A triangle with side lengths of:

	a.
	11 cm, 60 cm, and 61 cm.
	c.
	37 mm, 35 mm, and 12 mm.

	b.
	18 m, 24 m, and 30 m.
	d.
	77 m, 34 m, and 111 m.


____
2.
In a right triangle, angle A is 27°. If that angle is increased, at which angle measure will the value of tan A be double the value of tan 27°?  

	a.
	46.6°
	c.
	45.5°

	b.
	44°
	d.
	48.7°


____
3.
How long is a ladder that reaches a height of 4.36 m at an angle of elevation of 74°?

	a.
	4.54 m
	c.
	3.24 m

	b.
	15.82 m
	d.
	1.25 m


____
4.
A construction company is assembling a slide in a children’s playground. The slide is 7.4 m long. If the slide can have a maximum slope of 27°, how high can the top of the slide be?

	a.
	3.4 m
	c.
	3.8 m

	b.
	2.3 m
	d.
	6.6 m


____
5.
What does a clinometer do?  

	a.
	It measures the height of an object or the length of an object.

	b.
	It measures the angle of elevation or depression of the line of sight.

	c.
	It measures the distance between any two objects at sea level.

	d.
	It measures the altitude or depth compared to sea level of a nearby object. 


____
6.
What is the minimum length of a wheelchair ramp, if it must rise a height of 1.3 m at a maximum angle of 9.4° above the horizontal?

	a.
	7.96 m
	c.
	1.32 m

	b.
	0.21 m
	d.
	7.85 m


____
7.
The Statue of Liberty is 305 ft tall, from the ground to the top of her torch. If you stood 80 ft away and used a clinometer to view the top of the statue, what would the clinometer read?

	a.
	14.7°
	c.
	75.3°

	b.
	74.8°
	d.
	15.2°


Short Answer

8.
The largest drop on a roller coaster has a slope of 64° above the horizontal and covers a distance of 13 m on the ground. How tall is the roller coaster at its peak?

9.
The sun is shining at an angle of elevation of 32°. If a building casts a 65-metre long shadow, how tall is the building?

10.
A long tunnel is being constructed to allow safe travel for transport trucks through a mountain range. If the road through the tunnel can only be 10° steep and has to carry trucks up a height of 1120 ft, how long will the road be?

11.
An new highway off-ramp is being constructed along a stretch of 31.1 m of land and it needs to drop a height of 4.1 m. What will be the angle between the off-ramp and the ground?

12.
Starting at point 1, connect the four dots in order from 1 to 4. What is the length of the shortest path that achieves this?
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Long Problem

13.
A garden is cordoned into three sections, as shown in the diagram. What is the perimeter of the garden?
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14.
 Solve for x.
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15.
A 11-foot ladder is leaning against a vertical wall. For the ladder to be used safely, it cannot be placed at an angle of elevation of less than 63° or greater than 80°. What range of heights can the ladder safely reach?

16.
A surveyor is measuring the heights of various buildings. From the top of one building, the angle of elevation to the top of the neighbouring building is 20° and the angle of depression to the bottom of the building is 74°. If the neighbouring building is 11 m away, how tall is it?

17.
A billboard is mounted high on the side of a building. At a distance of 102 ft from the building  (distance b), the angle of elevation to the bottom of the billboard is 53° (angle ), and the angle of elevation to the top of the billboard is 5° more. 

How tall is the billboard (x)?
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18.
Stella is calculating the height of a Douglas fir tree that she can see from her campsite. From her tent, she measures the angle of elevation to the top of the tree to be 23°. She then walks 55 m closer to the tree and measures the angle of elevation to be 34°. 

a) 
Draw a diagram showing the situation.

b) 
How far from the tree did Stella take her first measurement?

c) 
What is the height of the tree?
